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ANM(R) & GNM-1012

LIFE SCIENCE (ive fwr)

Category-1{0 1 to 30)
(Carty 1 mark each, Only one uption is correct. Negative marks : - 1)
e part of the hrain associated with maintinance of body balance is

:EI :L_'quulh whlongata (B) Cerebellum
> Ecasiind (D) Thalamus
8 I e TR ST T A e T
WA) T3 ety (B) e
(C) rfegrs (D) I
2L 14 1 gasenus plant hormone,
(A) - Auxin (B) Gibberellin
(€) Ethylene (D) Abscisic Acid
- T ¢ wmt Sy e
(A) fom (B) farwcei
(C) Bufem (1) s s
Archacopteryx is the missing link between which groups ?
(A)  Aves and Mammalia (B)  Hepiilin and Aves
(C)  Replilia and Mammalia (1) Amphibia and Aves
s erEiea ram rmNcuE st T o
(A Y ame v (B) A& a7 et
(C) Tl car i (D) Fuwe ge i
Iresence of oone layer in the atmosphere 15 very imporiant, hecause it
{A)  provides rmin to carth iB)  protects earth from UY radiation
(C)  protects eanh from [Tood i(13)  protecis eanth from volcanic eruption

AT G - g2 Seffefy ot swyd, =ma
(A) s 2R e

() @ wfemas o TS e T A

(C)  wfedree wan s 9 372

(D)« srieers rurs o =7

CIplic nerve 1s a :
(Al Motor nerve (B)  Spinal perve

(C) Mixed nerve () Sensory nerve
oo ) T a9l

(A} mEIEY () ~EmEr (C) RmEy (D) TR wm

Which hormane is not secreted from the anterior pituitary gland 7
ra TS (MRT0TEE Wows 1vTE Rpm AT A
(A) ACIHH (B) .A.I;.'!II-
(C) FSH Dy TSH

S e e — i ——



A) ficm

©) T Tws (D) TRTSEEYE T
8. Gene Bank is an example of
::] Ex-situ i (B) Biodiversity holspol
) In-situ conservation (D) Micropropagation
ﬁwmwm Lk
(A) % &g wepwm (B) Szsm =T
(€) TG Aewn (D) T
9. Who is the author of the book entitled *Origin of Specics™ ?
(A)  Gregor Johan Mendel (B) Charles Darwin
{C) 1B. Lamarck (D) Sunley Miller
“Origin of Species” 7AM2 (v ra
(A) TETR e T=ran (B) &1 sradEw
(C) 1o fa st (D) ST fema
10.  Which ane of the following is a nitrogen fixing bacteria 7
Frafefreefin woo el wEdres fofe: aresi
{A) Azorebacter (B} Psendomonas
(C) Escherichia (D) Mycoplasma
11.  What type of microorganism is Penicillium chrysogenum ?
(A) Harmful bacteria (B) Harmful fungus
(C) Beneficial fungus (D) Beneficial protozoa
Penicillium chrysogenim T8 4178 S04 1
(A) Wiz arenim (B) Wi v
(C) TP eme (D) ‘Berwa remlTET
12, The chemical used in cryopreservation is
(A) Liguid oxygen (B) Liguid nitrogen
(C) Liquid carbon dioxide (D) Liguid methane
TR TS A0S THE w1 =
(A) T S (B) & TMEAGTER
(C) TR FEA TATHRS (D) A farem
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15.

16.

17.

Hydrophily
(C)  Omithophily . (D) Chiropterophily

AT VA W o= Vo s a9 10 i W=

(A) TEE () T ahai.

(C) wefeifaf (D) wRETEEfE Sl
Anther, the male reproductive structure of plant, contains

(A) Sepals (B) Petals .
(C) Carpels (D) Pollens

TfETTR *[28 S5 W, TRMEATS, W U

(A) e (B) 1%

(C) oTéra (D) *mmeTay:

Which of the following processes is used in rapid raising of new plants from small plant
tissues 7

(A) Hybridization (B) Grafling

(C) Cutting (D) Microprapagation

Grfe ram erwirs (et 3fEd = [V 13 g g Sien R Fm e

(A) TRFTT (B) Tale%ad

(C) =Mere=" (D) TRTEFLAME

The alkaloid obtained from Vinca rosea is

(A) Reserpine (B) Vincristine

(C) Atropine (D) Morphine

Vinca rosea T4 T8 Somamaf onsT W (0 &

(A) TR . (B) feefarfoa

(C) SmEeH (D) WA

In HIV the enzjrmc'rcspnrnsibl: for production of DNA from RNA is i
(A) Transcriptase (B) Helicase :
(C) DNA polymerase (D) Reverse transcriptase ke
HIV @ T8 3¢50 RNA TUTF DNA SR#WH 3T ¥ 79 - 4D

(A) GrofEeow (B) M

(D) foreef rsfamenbe




2.

1),

W) BSOWFE ) s e

(C) Gravm=fem () s )
nulﬁmﬁyhniuminﬂmmminmimdwimnmm

(A) Histone (B)  Globulin

(C) Albumin (D) Fibrinogen

DNA-Z 71 M5 =8 wine il ==

(A) fem (B) yfEEcm

(C) wregm (D) WG

What is the cormect term used 1o describe the complete set of genetic information of an
organism 7

(A) Gene (B) Nucleus
(C) Genome (I Proteome
et el =S Sraz e femvs Svwrrs wesra o o w9 AT T
(A) fem (B [Efgmy
() feom (D) rafe

The three small bones called mallews, incus and stupes are found 1 which of the following
sense organ ?

(A) Eye (B) Lar
(C) Nose (1) Tongue
CHferm, Bverst & OO e i s Fons Fisfefors Tom s 15 o wra
(A) OF (my =4
(C) wfFa my fog
24.  Asexual reproduction through budding takes place in
75 vwiere e =00 59 vl
(A) Amocha (B) Saccharomycey
(C) Penicillivm (D Bucillus
ANM(R) & GNM-2022 (Shift-2) 6
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26.

7.

29,

ANM(R) & GNM-2022 (3hifi-2) 7

The cell organelle directly involved in protein synthesis s

(A) Golgi bodies () Nucleus

1€} Ribosome D) Lysosome

rerfls e How sreTwEIra o rem-Ee @

(A) i ofey (B) FrsfEmm

(C) wkrarems (D) "ACICETR

Which one of the following diseases is pot mosquito-borne ? - ;H' l
(A} Dengue (B} Chikungunya . 3
(C) Plague (D) Malaria g~
frafites rarafag o el wsafes ot | N .
(A) =% ) Bgasf () () wefem |
Which one of the following is an endangered species in India ? R

(A) Spotted deer ()  One-homed rhinoceros ¥ o
(C) Peacock (13} Cheeta r
frfetrzsfire upa il srered favn safen gal .

(A) Saym ) 4% T fsm v i

(C) =4 1y ot _—

Which one of the fullowing is pot a reflex action ?

(A) Coughing (1) Sweating i Ty
(C) DBhinking of eyes () Sneezing

fapa rewe of e fem Wy

(A) it i) ﬁ!ﬂ g
() i e iy )
The V'~ shaped chromosomes seen in the milotie metaphase are i
(A)  Acrocentric By Acentric -
(C) Metacentric (1) Submetacentric

= o wensfars v wfER ETATET M S

(A) SIETHGE 1) =fEE p—

(C) TROTHGE (D) TG
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ANM(R) & GNM-2022
LIFE SCIENCE
Cat
(Caryy ; mark eagy, Obery "::'r'r::E:I ta 40)

P are correct, No negative marks)
101, plucoge IS OXidizeq 19 produce
(A) EF T S arg

in n:hn:-mnmm-:
ORI 3y ;M

(B)  wFTCITnT S
(C) ercmmmraﬁm

(D) (SRt i efgstms Y
3"- ;\:msumn {lrhumﬂ.n sperm conlans |
(A)  Alkaline Phosphatass (B)  Renin
(C) Hyaluronjdase (D) Acrosin
RS B e e
(A) ST RE LT | (B) wfR
(©) TRty (D) S
35.  Which of the following evens oceur during Iysogenic eyele 7
(A) Lysisof host bacterig] cell
(B) Virus forms a prophage
(C)  New viral particles are sy nthesized
(D) New characters ¢ expressed in host bacterium
TR 5 Frafafys (5T WGwafe wrf 9
(A) T R e fam i
(B) S0 I oy 3 3y
(€) S RIETEH TRy
(D) T G e isf ik N =i
ANM(R) & GNM-2022 (Shifi-2) 8
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36, Domain archaea includes -
(A) len:ubacleﬂu (B) Cyanobacieria
(€} Methanogens (DY Halophiles
ETREA wRiEme v e
(A) Trisardfiu (B) FUERIFCRT
(©) Furmem (D) T

37, Which of the following are non-ionizing radiation ?
(A)  Alpha particles (B) Gamma particles
(C) UV radiation (D) Microwaves
fruffvoefim ang wmef 7 wromEfm w1
(A) e B (B) mm
(€) SfeRen | (D) TEAEFGESH,

. 38, Which methods are adopted for ex-sitn conservation ?

(A) Cryopreservation (B) Germplosm bank
(C) Botanical garden (D) Wational park
T4 *Weaf 3-FG AT we fae Tu e
(A) TECEREH (B) ez I
(C) o= wmrdA (D) w8 W

39.  In which combinations of microorganisms, all are directly involved in N,-cycle ?

(AY  Azotobacter, Nitrosomonas and Nitrobacter

(B) Escherichia, Nitrosomonas and Thiobacillus

(CYy  Clostridism, Nitrobacter and Rhizobium

(D) Klebsiella, Rhizobium and Salmonella

e taR FRreE ofare w1 ol SEme saEe Y R g
(AY  Azotebacter, Nitrosomonas S92 Nifrobacter

(B)  Escherichia, Nitrosomongs G388 Thiobocillus

(C)  Clostridium, Nirrobacror S92 Rivizobivm

(D) Klebsiella, Rhizobium ST Salmonella

40. DNA is made up of

{A) Pentose sugar {B) Phosphate
(C) Glucose (D} Nitrogenous base
DNA tuefer s s 2w o
(A) oo =S (B) TATHE
(C) = (D) R 3
ANM(R) & GNM-2022 (Shih-2) 9 A

ur

¥



ANM(R) & GNM-2022

PHYSICAL SCIENCT.
Category-1 (Q 41 10 55) Y
(Curry | mark esch, Ouly one optlon s correct. Negative marks: = 9
41, The Ihm: elements | Art0, R Ca* gun be called.
(A) isotopes (B) isobars
IC)  isotones (D) isochems
AR, K9 ang | colo.at feafs rlars o1 T
(A) SR (B) wArEE.
(C) WErom (D) SR

A W molecular weights of oxygen, hydrogen and sulphur are respectively 32, 7 and 32, then
what is the molecular weight of sulphuric acid ?
+ WATHIA & ereiae WRies oy 1H weary 32, 2 © 32 10 O Meoshe
WMAEE W ooy = g
(A) 49. (B) 98 () 82 (D) 66
43. In the following wble, select the correct matching between the substances named in first
column and the classification names piven in the second column,

|  Substances Clasxification

I. | Brine a. | Mixture

2 | Smoke b, | Fmulsion |
| 3. | Buter c. | Soluiion
4. | Soil d. | Calloid
(A) I-c.2<d, 3-b, 4-a (B} lem 2-h, 3¢, 44
(C) 1, 2-¢, 3., 4-b (D) b, 2, 3¢, 40
VB3 AN A% WY (W ol w1y fedhn am o = Awolen A Hag By
1)

n R

1. J Lek-o o | i

2, |ty b, | T

3 | R lc H9
4. |= |d | wrws
{A) 1=, 2, 3-b. 4 (B) l-a 2-b, 3¢, 4-d
(C) 1, 2 3-a.4-b (D) 1=b, 2-d, 3¢, 4-a-

44.  Water bubbles are always spherical in shape, it never takes any other shape. Which physical
property of water is responsible for this 7

(A) Surface lension (B) Viscosity

(C) Elasticity (D) Specific gravily

TR U TR (IS T; SA7 (0] WRIER T | W [0 [81S 4 g vy w7l 2
(A) DM (B) FrEel

(€) fefew (D) wYs ovy

=== i e

e o ———
e ——
SRS
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A water pump can (11 s 300-ive water i o
Power of U pump ? (g = 10 ms?) ok et a1 6.1 hlght n $0 misies. Whal I e

W =t 50 Felard o Falre Svyary o aa® wa e wiif werd
'EIIMIMHHH-IHWH} RO >
(A) 10 Wan (H) 30 War i) § Wan 15 Wan
L ROO calorie of heat |s o e 1o 10 gt fe "w
(AL bt hall the ice \mll meli bkt L'-

) entire ice will become water and then vaporise
(C) 10 g of water at 10 *C will remain
(10 g water at 0 *C will remain

0°C WTUIE | @ aTwrE RiK) s mle @i e warn
(A) 0 WS Ay W Ty

(1) & 33 ww ¥y O ary mea
() 107 Srnraiy () w9 "Ny ume
(1) 0°C i 10 ¢ wn e wre,

i a note contains four wines of frequencles 286, HHL, 512 amd 6300, which one b & hanmonko 7

| ":' 1:'”‘ i anl l-f‘l."ql.ll.'lh:'t 256 PV e e o] |:'|1:-||I|rmr A}

(C) The one of freguency §12 ) The tone of Trequency 630

aa® o 256, 400, 512 @ 630 airwa ral e fulas e o ey ped® p
(A) 256 ¥vwrwe yeld (1) 400wy el

() 512 Fvmwe o (D) 630 Wy 7l

The eve lens of & human bady is a

(A} biconcave lens (1) hiconvex lens

(L) plane murmor (1 prism

WA ATET & (A" td gald

(A)  SumaEH ey () Brsrae peen

() *uwa e (1) feey

Which of the following gases does ot normally participate in any chemical reaction
(A} Hsdrogen (B} Neon (C) Carbon dioxide 4] Methine
Fufetes amisfom unn e sraas ren aemilie (e s s oa g
(A) WIS (B WA \C) sfastuaty (1) feom
The acid which s mostly present in ocid rin iy

(A) Nitnie acud (B Hydrochlone acid

(C)  Sulphuric acd (N Citrle seid

Sew TS (1 SIS AT (4 ars o T

(A) wEfm wrhe () ettt

() =il wnfrs i G wrs

P e e E————— D e ——

ANM(R) & GNM-2021 (Shih-2) 1 m A
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9 T8 e T

(A) 16m/s, 10m (B) 2.5m/5,40m
(C) 32mis, 10m (D) 25m/s,0m
Choose the right answer :

Under special circumstances, a body’s

(A) mass and weight both can be zemo

(B) mass cun be zero, but weight cannot be zero
(C) mass connol be zero, but weight can be zero
(D) neither mass nor weight can be zero

o Suab Frfes =2

farera <fafyfers == =2 -

(A) S99 65ARE-T = T[T 3

(B) SR [ =S *M3 %5 9O TS WA
(C) %[ A(S M2 7 3 5 F WS 0
(D) &7 S TEEHTR-T TS o =l

-

54. A 20 g bullet is fired from a gun. The bullet hits a sandbag with 100 nJ/s speed and stops
after 10 em into the sand. How much stopping force was applied by the sand ?
g3l TTF (U= 20 g SFEA 90 TEG @S W | TEH 100 m/s TR o3P A s
WS S TR AT 10 cm 08 100 TI0R 1 | R ow S e offerny s ey
(A) 1000N (By 100N
(C) 200N (D) 500 dyne
§5. Newton is a unit of
(A) mass (B) force :
(C) gravitation (D) electric current
‘et form we =t
(A) &2 (B) T
() sfead (D) oo ga=
ANM(R) & GNM-2022 (Shift-2) 12




PHYSICAL SCIENCE

Category-11 (Q 56
{Carry 2 mark cach, One m-..:f mfl?un:ﬁnﬂ.ﬂu -lllhm

56, Which ol the following siatements are true about the value of *g" ?

58.

—
e e e i R i W

ANM(R) & GNM-2022 (Shil-2) 13

(A) Itis same everywhere on the surface of the Earth.
B) I !ssnmn everywhere on any latitude,

) IIS sume everywhere on the equalor

() It1s zero st north and south poles, .

g% T 3 s tam m Sfwe 2w
(A) TR ~pha e o3 ww
(B) TGN @3f wwiem rere wéa 02 TR TER |
(€) e w2 gn wmowmmy

(D) TR S Y R @ T

A large conton bale and a small iron picce, both weighs 1 kg. Then find the correct statemens.
(A) Mass of the cotton bale is actually slightly larger.

{B) Since their weights are same, their masses arc also same.

(C) Mass of the iron piece is slightly larger.

(D) Gravitational force acting on the iron piece is larger.

25 foetie e 79 6 = TEG IO GaE, bR weH | kg | POV R 0P 9
twsf e,

(A) STArE SreR TR B AT A T

(B) [UEY WIAT GO FW, T SHD B33 HRA |

(C) (e ferwide s e P
(D) T GaTaiie Bere vy wfsede awe T O |

Two boys start running along a circular track of radius 70 m from same point ot speeds 13
ms and 9 m’s. After what time will they meet each other ?

(A) They will never meet each other.

(B) Alter 20 sec if they run in opposite directions.

(C) Afier 65 sec.

() After 110 sec if they start running in same direction.

5% 2 70m APIHA 9 TOH 4 AP WM (NF WO 13 mis 8 3 m/s THE03
TATSTS nE o | SO0 4E TR U awey fafEs A

(A) ORI R TR GFAE e TE Al

(@) o O 0 S SCOIRCE TTPCS OF (A TRLA 20 sec A |

(C) 65 sec 7 AR WA @A e T

(D) i v @l frE TIS0S 9F 3T IR0 110 sec T2 |

P — e R S




ANM(R) & GNM-2022
59.  Whena foree s applied on & moving ubject,

(A) There is no change in its direction, velocity or acceleration.

(B) Tt may continue to move in the same direction but with a changed speed.
(C) 1t may continue to move Mmsmwmmndiﬁmmm
(D) It may start moving in opposite direction.

(S et am Svira <A s g,

(A) =% e, @t o Qe orm fads T 1|

(B) =% oot wfom fog fraife ofers sars vt M3

(C) =% <7 vfies firg ofeafifs sfome 5o waTs MR

(D) 2y SO 5o 0w s oz |

60. 1) of work is done when

(A)' A lorce on a static mass of | kg gives it an aceelerntion of 1 m/s? in its direction and
maves it through a distance of 1 m.

(B) A force of | kg muves a static object by | m,

(C) A force on a static mass of 100 g gives it an acceleration of 1 m/s? in its direction and
moves it through a distance of 10 m.

(D) A force of 1 N moves a static object through a distance of | m in its direction.
| T =) 7o~ Tu U,

(A) mﬁm:hgﬁmﬁﬁﬁ?mammlwﬂmq&mmqﬁ
| mARIEY

(B) %3 | kg STa9 3% fig o | m M R 3 |

(C) <%© 3™ 100 g STe2 9= fir2 =pm ﬂmﬁmlwﬁiﬂﬂ‘qﬂm o et
10m F=TEY|

(D) 1 NI 930 W 9wl AR | m T AR Iw

L

————— e e
————— — — -1 e e L

ANM(R) & GNM-2022 (Shif-2) 14
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ANM(R) & GNM-2022

ENGLISH
: Category-1(Q 61 10 75)
(Carry | mark each, Only ont option ks correct, Negative marks 1= Yy

Choose the word, which can most appropriately replace the italicized words in the given
senlence ;

Primitive tales muinly comprised staries of ald-time gods and heroes.

(A) ode (B) legend

(C) epic (D) allegory

m:w the most effective word 1o fill in the blank 1o make the sentence meaningfully
complete :

Those who have well their transition from village life to city life have prospered.
{A) managed (B) laken

{C) tried (D)} [inalised

Observe the two italicized words in the following two sentences and give your observation
by choosing any one aption below :

L Avote of censur was passed against the Chairman,

Il Every film needs a clearance from the Censor Board.

(A) Only sentence-1 is correct.

{B) Only sentence-11 is correct.

(C) Both sentences | and 11 are cormect.

(D) Neither semence [ nor sentence 11 is correct.

Choose the must effective word to fill in the blank 1o make the sentence meaningfully
complete

Ashok had 1o drop his plan of going to the picnic as he had cenain lo keep during
that period.

(A) urgencies (B) preparations

(C) commiiments (I3  amangemenis

Fill in the blank with the most appropriate word! group of words to make the sentence
meaningfully complete

| shall not join ___ youneed me,
(A} ifnot (B) if
(C) whether (D} unless

Fill in the blank with the most appropriate word! group of words 1o make the scnience
meaningiully complete :

His statement 15 replete contradictions.
(A) in (B) of
(C) by (D) with

Find out which part of the sentence has an error :

The blinds i deserve  our sympathy Jf;md cooperation
(A) (B) (C} (D) ;

— e E—ma e W e e e e s

ANM(R) & GNM-2022 (Shifi-2) 5 Eﬁ A



7L

.

7.

7,

73,

(D) Damage

{Seatence s given in direc (or indirect) speech. Out of the four altemativ s §ivon Wi
the ane which best expresses the same sentence in indirect (or direct) speech :
%m*mmmmmmmm.

(A) Hnulmdtlmwhurumwldh:bemmhmmt}'ﬂlf-

(B) H:mnd:reﬂ“tmltwuuldhcﬁmﬂmﬂhcinllnﬂihn‘!ﬂh
(C) Htwnndnmd“tmhnhuuldhelhnm&m}ﬂt—

(D) He contemplated where shall he be that time the following year,

Choose the altemative which best expresses the meaning of the idiom / phrase / proverb
given in italics in the following sentence : :

| take exception to your remark.

(A) accept gladly (B) object o

(C)" will consider carefully (D) am thankful for

Choose the aliemative which best expresses the meaning of the idiom / phrase / proverb
given in italics in the following sentence

I feel very pur our about yesterday's incident,

(A) plensed (B) fearful

(C)  disturbed (D) overjoved

Choose the word, which has nearly the same meaning as OBLIGATORY,

(A) Agrecable (B) Required

(C) Stubbom (D) Useful ‘
Choose the word, which i opposite in meaning 1o FICKLE.

(A) Tasty (B)  Quick

(C) Constant (D) Healthy

Choose the word that can replace both the words in
L. The document was declared void,

I 1felt pity for the sickly person,

(A) Useless (B) Defective
(C) Invalid (D} Weak

ialics intllr.l.‘wug;'wmmm;

ANM(R) & GNM-2022 (Shin-2) 16




ANM(R) & GNM-2022

MATHEMATICS
Category-1 (Q 76 10 85)
(Carry 1 mark each. Only one option is correct. Negative marka : = %)

76, A reservoir can be filled with water by two tips. The first tap only needs 10 minutes to fill

.

B e ——— LR B

ANM(R) & GNM-2022 (Shi-2)

the 1ap and the second tap only needs 15 minutes, At first the reservoir is half filled by the
second tap only and then the first tap is also opened. How much time in total was needed 1o

fill the reservoir ?

7 BT b 51 ey wet w21 2w | Y syem wf® 2y e (YD wae 10 G
a0y W8y 7ol aymm waw 15 G wmn | erw oy i w9l wrEm =@
@wﬁl%ﬁﬂmmmmnﬂmwmmﬁmﬂm!ﬁmw
T T A9

{A) 6mn, (B} 3Imin
(C) 10% min, (D) 7% min.

The dinmeter of a circular park is 35 m. How much time it will take to run once around the
park ut a speed of 110 em/sec 7

oD TIHE WS WA 35 R WA 110 em/sec T A W 5RFTE GFTE (RIS WS
F Y A 1

(A} 100 sec. (B) 200 sec.

(C) 2sec. (D) 50 sec.

Number of students in 1wo schools are same. But the ratio of the number of male students 1o
the number of female students are 9:10 in one school and 109 in the other school, What is
the ratio of the number of male students to the number of female students of the two schools
token together 7

srmerfer 7S WA wa-ETdR TG e i ey wm o Wl W v gw e 9.10 o
TAOTS 10:9 T KT F (000 O ¢ Ol Faqw wrs 7w

(A) 910 (B) 10:9

(C) 10:11 (D) 1:

A co-operative bank offers compound interest at 5% in 1% year and at 4% in 2 year. If a
certuin amount of money becomes ¥ 2184 in 2 years, what is principal amount ?

(A) ¥ 1900 (B)y T 1950 (C) 2000 (D) T2500

il Ay e e T6TE 5% ¢ 8 e 49, seRgf T oW e | oy O 1 2 R
IH-TACA 2184 BT T, SIAA TP T w

(A) 19000 (B) 1950F@  (C) 20008mm (D) 25000
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hmrwmhmm*#!m-Hﬁﬂw
iuu-uﬁmnutnumm?

(A) ® e I ¥ a0 () TeR240 ST S L
Hm:mmmmrummﬂ‘m'ﬂmnm:
(A) 60000 OT® (M) eRo0O O () pR290 O () 68750 B

Bl The wurface ares of the hase of a cylindrical vessel is 154 m? and its lateral srface ures iy
108 m, Then height of oy lindrical vessels iy

(A) Tm M dm €C) AAm i m
%% PYTTAE Bt Y reane |44 ot on " reEa 308 RO v,
Tl b way

(A) 7fabre (W) 14 fabre () 21 feba (D) 2756w
1l ||'h|h-![;:—¢1-2]rlng i 4, ther
I .

* h:ll —][—t-+£+2]=luu i -I“.W"I
w r I L |

{A) r=y B} zey
(C) x>y (D) zey

i i
LA If-j.-g—‘r--nﬂ.-]ﬂi,lhmlnmﬁ' . )=
9=F r-p p=-q

|
™ E——%I:ﬁﬂ‘mmhlglﬂ' ¥ )=

L

(A) log 2 (B} 0
(C) log2 () logl
B4, The difference between two positive whole numbers is 3 and the sum of their squares 15 17
find the two numbers
T T WS e T ) gw ey wda nd 117 % oS = y
fA) 9.6 {8), 12,15
(C) B, 84 () 19,22

BS. At what mte of simple interest, T S000 yields an interest of T 4800 in cight years ?
#ihe 7eW e W Fw T So00 O W AT AR 4800 Bra Lic )
(A) 6% By 12% (C) 1¥% (D) 9

—_————— e o _— —
—_— - ) — e =
s Fa—

v I - -
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CENERAL KNOWLEDGE
Category-1 (Q K6 1a #5)
(Carry 1 mark esch. Only one npiien is correct. Negatlve marka : = %)
Which is the most populated city in the warld 7
(A) New York B) Deijing
() Mumhm (D) Tokyo '
FREY WA wE (WD 1

A) oI (B) rafon
() v (D) ofeTm

gr. Whois the first Indian 1o receive Nobel prize 7

(A) Jawaharial Nehru (A1) C V Raman
(C) Dr. Amariya Sen (D) Rahindranath Tagore

oo (R STE [ATee JEwre o

(A) DT T (B) frfs=m
() S WEET (D) TEI e
g8, Lakshadweep is located in
(B) Pacific Ocean

(A)  Atlantic Ocecan

(C) Bay of Bengal (D3} Arabian Sca

AeA AT
(A) EHEOw TIHR () =1 TETAE
(C) TCHTTRCA (D) SEEAMI

¥, Who is the pioneer of the theory of relativity 7
(B) Albert Einsiein

(Al Thomas Alva Edison
(D) Jumes Walt

(C) Marconi
fegfa ww FereSfah (wreeee wE) $TER I

(A) B wers afiwm (B) Sl WEATEES
(cy v (D) [ GG
90, Who amony the following has become the fourth Indian to win a Grond Slam 7
(A) Sania Mirza (B) Rohan Bopanna
(C) Mahesh Bhupati (D) Leander Pacs
firpz T s STEEN NS AT
(A) = el (B) 1A T+ :
(C) Wz goifs (D) TSR
19 Eﬂ A
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(A st Vie President of fnia
(1) first Speaker of Lok Sablg
(€1 the first Musli Iresiient of fidin

(D) fiest Presidtent of Iiian Nationa] Congress

W W (A e

(A} Srenat gw Setafvis (1) ot s =N
(C) wrepsd s yofine g wfis (1y  wrae wiy seigene uu ey

The famous book *Anandamutly wir suthored Iy

(A} Sarojimi Nuidu () Wankim Chandra Chotopadliyay
(€Y Sri Aurobindo () Rablndrannth Tigore

finere “srmaryt Swsinid e araure.

(A) afaf qey () sy w0

(€ 3 wafary (1) A drp

Bagram airbase, which was recently in news, 4 located in which cotmtry

(A) Pakistan (1) Afghaniimm

(Cy lran iy liwdia

reagfe warsra TEacs s amtans fesre e o it wafs ¢

(A) vl (1) i

(Cy Ham. (0 Wi

Which are the twa houses of Tindian Parliament

(A) Bidthan Sobha and Lok Sabla () Rapya Subha o Lok Sublin
(C) Ragva Sabha andd Bidhan Passad (D) Lok Suabha and Supreme Coun
S8 TG D orsta s Ay

(A) fauts ot o renre s (%) o] 21w g (ot Irm)

(C)  wren e @ e il (D) Lo wrw) @ 3 g




97,

98, Find the right option below where the two given words have the ssme relationship as,

© (DY

:'1[;1 the odd one out.
Pen
(B) Book
(C)  Pencil (D) Note book

‘CARPENTER - SAW'

(A} Garden — Flower (B} Sky - Rainbow
(C) Soldier - Gun (D) River - Poat .
99.  Choose the right option 1o il in the blank :
PAW : DOG : : HOOF : ?
(A) Teeth. (B) Claw
(C)  Elepham i) Horse
100, Select the right option that will replace the question mark and contimie the patiern.
— —— iy —
— =% e =5 EE = - = ':I
e, gl L
“Choose the right option,
w F (B) =l
—p -—
F— ——
(C) (D)
. —
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